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QUESTION 1

Click the Exhibit button.
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(24.9 mm)

—
_—

Referring to the exhibit, which cable is an InfiniBand 4X connector?
A. 3

B.1

C.2

D.4

Correct Answer: C

Reference: http://www.admin-sys.org/IMG/pdf/Hardware_Universe.pdf

QUESTION 2

A customer has launched a data analytics initiative and has been transferring old data into the new data lake. The
customer has discovered some data read errors during the transfer process.

In this scenario, how should the customer have avoided these data integrity issues?

A. by ensuring that data assurance and media scan are always activated
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B. by deploying secure-capable drives
C. by turning on cyclic redundancy checks (CRCs)
D. by turning on erasure coding

Correct Answer: A

QUESTION 3

Which data protection strategy has the most overhead capacity as a percentage of the total capacity?
A. RAID 10

B. RAID 6

C.RAIDS

D. Dynamic Disk Pools (DDP)

Correct Answer: C

Reference: https://www.techrepublic.com/blog/the-enterprise-cloud/raid-50-offers-a-balance-ofperformance-storage-
capacity-and-data-integrity/

QUESTION 4

To enable one-way authentication in a new iSCSI Linux implementation, which three modifications should you make in
the /etc/iscsil/iscsid.conf file on the Linux host? (Choose three.)

A. the target username and password
B. the initiator username and password
C. CHAP

D. sendtargets discovery

E.iSCsSI

Correct Answer: ACD

Reference: https://library.netapp.com/ecm/ecm_download_file/ECMP1654943

QUESTION 5

Click the Exhibit button.

Referring to the exhibit, which three steps would you take to solve the problem shown in the event log? (Choose three.)
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A9/7M512:09:22 AM (07:09:22) 55985 1017 Fibre channel link down — Host-side: controller in slot A, port 2
A9/7M512:09:22 AM (07:09:22) 55986 1018 Fibre channel link up — Host-side: controller in slot A, port 2
A9/7/15 12:09:26 AM (07:09:26) 55990 1017 Fibre channel link down — Host-side: controller in slot A, port 2
A9/7/115 12:09:26 AM (07.09:26) 55991 1018 Fibre channel link up — Host-side: controller in slot A, port 2
A9/TI15 12:09:30 AM (07:09:30) 55993 1017 Fibre channel link down — Host-side: controller in slot A, port 2
A9/7115 12:09:30 AM (07:09:30) 55994 1018 Fibre channel link up — Host-side: controller in slot A, port 2
A9/7/15 12:09:33 AM (07:09:33) 55996 1017 Fibre channel link down — Host-side: controller in slot A, port 2
A9/7M1512:00:33 AM (07:09:33) 55897 1018 Fibre channel link up — Host-side: controller in slot A, port 2

A. Swap out the SFP in the controller port

B. Swap out the FC cable

C. Reinitialize the FC switch

D. Move the connection to another controller port
E. Swap out the HBA on the FC switch

Correct Answer: ABC

Latest NS0-515 Dumps NS0-515 Practice Test NSO0-515 Study Guide

Latest NS0-515 Dumps | NS0-515 Practice Test | NS0-515 Study Guide 4/4


https://www.passapply.com/ns0-515.html
https://www.passapply.com/ns0-515.html
https://www.passapply.com/ns0-515.html
http://www.tcpdf.org
https://www.passapply.com/ns0-515.html
https://www.passapply.com/ns0-515.html
https://www.passapply.com/ns0-515.html

